
SH-V/ECO/502/C-12/19

B.Sc. 5th Semester (Honours) Examination, 2019-20

ECONOMICS

Course ID : 51612 Course Code : SH/ECO/502/C-12

Course Title: International Economics

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five questions : 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What do you mean by free trade?

≈̃Mê ı±øÌÊ… ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(b) Define opportunity cost.

≈̧À˚±· ı…À˚˛ı˛ ¸—:± ±›/

(c) What do you understand by terms of trade?

ı±øÌÊ…˝±ı˛ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(d) What do you mean by exchange rate?

øıøÚ˜˚˛ ˝±ı˛ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(e) What is tariff?

ı±øÌÊ… q{® ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(f) State Stolper-Samuelson theorem.

Stolper-Samuelson -¤ı˛ Ó¬NøÈ¬ øıı‘Ó¬ fl¬Àı˛±/

(g) What is optimum tariff?

fl¬±˜… q{® fl¬±Àfl¬ ıÀ˘∑

(h) What do you mean by Quota?

“Quota” ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑
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2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Explain Ricardian model of International Trade.

’±ôLÊ«±øÓ¬fl¬ ı±øÌÀÊ…ı˛ øı˛fl¬±Î¬π˚˛ ˜ÀÎ¬˘øÈ¬ ı…±‡…± fl¬Àı˛±/

(b) Indicate the situation when Quota is superior to tariff as a protective measure.

¸—ı˛é¬ÀÌı˛ ˝±øÓ¬˚˛±ı˛ ø˝¸±Àı Œ˚ ¸˜ô¶ ¬Ûøı˛ø¶öøÓ¬ÀÓ¬ Œfl¬±È¬± ’±˜±øÚ q{® ’À¬Ûé¬± ’øÒfl¬ fl¬±˚«fl¬ı˛œ ˝˚˛ Ó¬±ı˛
˝◊øºÓ¬ ±›/

(c) Explain Heckscher-Ohlin theorem of trade following Price definition.

ë±˜ ¸—:±í ’Ú≈¸ı˛Ì fl¬Àı˛ Œ˝'±ı˛-›˝ƒø˘Ú ı±øÌÊ… Ó¬NøÈ¬ ı…±‡…± fl¬Àı˛±/

(d) Explain graphically the concept of ‘Factor Intensity Reversal’.

‘Factor Intensity Reversal’-¤ı˛ Ò±ı˛Ì±øÈ¬ ø‰¬S¸˝ ı…±‡…± fl¬Àı˛±/

(e) Briefly discuss the arguments in favour of free trade.

≈̃Mê ı±øÌÀÊ…ı˛ ¬ÛÀé¬ ≈̊øMê&ø˘ ¸—Àé¬À¬Û ıÌ«Ú± fl¬Àı˛±/

(f) What do you mean by Infant Industry Argument for temporary protection?

ø˙q ø˙äÀfl¬ ¸±˜ø˚˛fl¬ ¸—ı˛é¬ÀÌı˛ ≈̊øMê&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Define flexible exchange rate system. Analyse the merits and demerits of this system.

¬Ûøı˛ıÓ«¬Úœ˚˛ øıøÚ˜˚˛ ˝±ı˛ ı…ı¶ö±ı˛ ¸—:± ±›/ ¤˝◊ ı…ı¶ö±ı˛ ¸≈øıÒ± › ’¸≈øıÒ±&ø˘ ı…±‡…± fl¬Àı˛±/

(b) Write a short note on ‘Leontief Paradox’.

‘Leontief Paradox’ ¸•ÛÀfl«¬ ¤fl¬øÈ¬ ¸—øé¬l ’±À˘±‰¬Ú± fl¬Àı˛±/
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B.Sc. 5th Semester (Honours) Examination, 2019-20

ECONOMICS

Course ID : 51616 Course Code : SH/ECO/503/DSE-1.1

Course Title: Economics of Health and Education

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five from the following questions : 2×5=10

(a) Define ‘Human capital’.

(b) Mention few Public Sources of Health Care Funding.

(c) Mention one positive externality of investment of education in Human Capital.

(d) Define IMR.

(e) What is Academic Inflation?

(f) Mention two economic benefits of public investment in Early Childhood Care and Education.

(g) Write the full form of

(i) AYUSH

(ii) NRHM

(h) Define Health Economics.

2. Answer any four of the following questions: 5×4=20

(a) Discuss the role of ‘Education’ on ‘Human Capital’ formation.

(b) Mention the distinguishing features of Health Economics.

(c) Briefly discuss the causes of market failure in the provision of Health Services.

(d) Briefly discuss the causes of poor health of an average Indian.

(e) Write the determinants of demand for Health and Health Care.

(f) Briefly discuss the shortfalls of Health Care infrastructure in India in comparison to social

need.
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3. Answer any one from the following questions: 10×1=10

(a) How ‘cost effectiveness’ and ‘cost benefit’ analysis are used for economic valuation of

Health Care Programmes.

(b) (i) Highlight the areas of ‘Health Financing’ by Centre and States.

(ii) Briefly discuss overall achievements of Education System in India.
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B.Sc. 5th Semester (Honours) Examination, 2019-20

ECONOMICS

Course ID : 51616 Course Code : SH/ECO/503/DSE-1.2

Course Title: Economic History of India (1857-1947)

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions : 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Who introduced Permanent Settlement in Eastern India and when?

Œfl¬, fl¬‡Ú ¬Û”ı«ˆ¬±ı˛ÀÓ¬ ø‰¬ı˛¶ö±˚˛œ ıÀj±ıô¶∏ √õ∂Ô± ‰¬±˘≈ fl¬Àı˛Ú∑

(b) What is meant by deindustrialization in India?

ˆ¬±ı˛ÀÓ¬ ’ıø˙ä±˚˛Ú ı˘ÀÓ¬ fl¬œ Œı±Á¬±ÀÚ± ˝˚˛∑

(c) What is meant by teanant-at-will?

Œ¶§‰Â±fl‘¬Ó¬ √õ∂Ê± ı˘ÀÓ¬ fl¬œ Œı±Á¬±ÀÚ± ˝˚˛∑

(d) Explain the meaning of economic drain in British India.

øıËøÈ¬˙ ı˛±ÊQfl¬±À˘ ’Ô«ÕÚøÓ¬fl¬ øÚ–¸ı˛ÀÌı˛ ’Ô« ı…±‡…± fl¬Àı˛±/

(e) When and where did the first railway passenger train start to run?

fl¬Àı ¤ı— Œfl¬±Ô±˚˛ √õ∂Ô˜ Œ˘±fl¬ÊÚı±ø˝Ó¬ ŒÈ¬™Ú ‰¬± ≈̆ ˝˚˛∑

(f) What is Commercialisation of agriculture? Mention two Commercial crops in British India.

fl‘¬ø¯∏ı˛ ı±øÌÊ…±˚˛Ú fl¬œ∑ øıËøÈ¬˙ ı˛±ÊQfl¬±À˘ ≈øÈ¬ ı±øÌøÊ…fl¬ ˙À¯∏…ı˛ Ú±˜ Œ˘À‡±/

(g) Mention the major items that Constituted Home Charges.

ëŒ˝±˜‰¬±Ê«í ·Í¬Úfl¬±ı˛œ √õ∂Ò±Ú Ù¬±&ø˘ı˛ Î¬◊À{°‡ fl¬Àı˛±/

(h) Mention different types of land tenure system in British India.

øıËøÈ¬˙ ˆ¬±ı˛ÀÓ¬ı˛ øıøˆ¬iß ˆ”¬ø˜ ı…ı¶ö±ı˛ (land tenure) Î¬◊À{°‡ fl¬Àı˛±/
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2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Explain why expansion of railways was considered obstructive to the development of
irrigation in British India.

øıËøÈ¬˙ ˆ¬±ı˛ÀÓ¬ Œı˛˘›À˚˛ ¸•x¸±ı˛Ì Œ¸‰¬ øıfl¬±À˙ı˛ øı‚Æı˛+À¬Û Œfl¬Ú ·Ì… fl¬ı˛± ˝Ó¬ ı…±‡…± fl¬Àı˛±/

(b) What is Ryotwari System in British India? Attempt the different forms of Ryotwari System
of land revenue as introduced in India during the British period.

ı˛±˚˛Ó¬›˚˛±øı˛ ı…ı¶ö± fl¬œ∑ ˆ¬±ı˛ÀÓ¬ øıËøÈ¬˙ ˙±¸Úfl¬±À˘ √õ∂ıøÓ«¬Ó¬ ı˛±˚˛Ó¬›˚˛±øı˛ ı˛±Ê¶§ ı…ı¶ö±ı˛ øıøˆ¬iß Ò±ı˛Ì±&ø˘
ı…±‡…± fl¬Àı˛±/

(c) Consider the impact of the Great Depression of 1930’s on the Indian Economy.

ˆ¬±ı˛Ó¬œ˚˛ ’Ô«ı…ı¶ö±ı˛ Î¬◊¬Ûı˛ øÓ¬øı˛À˙ı˛ ˙Àfl¬ı˛ ˜˝±˜j±ı˛ √õ∂ˆ¬±ı øı‰¬±ı˛ fl¬Àı˛±/

(d) Briefly discuss the Consequence of economic drain from British India. What do you mean
by the term internal drain? 4+1=5

øıËøÈ¬˙ ˆ¬±ı˛ÀÓ¬ ’Ô«ÕÚøÓ¬fl¬ øÚ–¸ı˛ÀÌı˛ Ù¬˘±Ù¬˘ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/ ’ˆ¬…ôL√ı˛œÌ øÚ–¸ı˛Ì ı˘ÀÓ¬ fl¬œ
Œı±ÀÁ¬±∑

(e) Mention any two objectives of the Permanent Settlement. Examine whether all sectors of
farm Community were benefitted by the settlement. 2+3=5

ø‰¬ı˛¶ö±˚˛œ ıÀj±ıÀô¶∏ı˛ Œ˚ Œfl¬±ÀÚ± ≈øÈ¬ Î¬◊ÀV˙… øıı‘Ó¬ fl¬Àı˛±/ fl‘¬¯∏fl¬ ¸•x±À˚˛ı˛ ¸˜ô¶∏ ’—˙˝◊ ¤˝◊ ıÀj±ıÀô¶∏
Î¬◊¬Ûfl‘¬Ó¬ ˝À˚˛øÂ˘ øfl¬Ú± øı‰¬±ı˛ fl¬Àı˛±/

(f) What is Zamindari System in British India? Compare the economic condition of a ryot
with a Zamindar. 1+4=5

øıËøÈ¬˙ ı˛±ÊQfl¬±À˘ Êø˜±ı˛œ ı…ı¶ö± fl¬œ∑ ¤fl¬ÊÚ ı˛±˚˛Ó¬ › ¤fl¬ÊÚ Êø˜±Àı˛ı˛ ’Ô«ÕÚøÓ¬fl¬ ’ı¶ö±ı˛ Ó≈¬˘Ú±
fl¬Àı˛±/

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is occupancy tenant? Examine critically the measures adopted by the British
Government to check eviction of tenants. 1+9=10

¶§Q±øÒfl¬±ı˛ √õ∂Ê± fl¬œ∑ √õ∂Ê±-Î¬◊À‰Â ˜ÀÚı˛ ÊÚ… øıËøÈ¬˙ ¸ı˛fl¬±ı˛ ·‘˝œÓ¬ Î¬◊¬Û±˚˛&ø˘ı˛ ¸˜±À˘±‰¬Ú±˜”˘fl¬ øı‰¬±ı˛
fl¬Àı˛±/

(b) When did East India Company start working in India? Why did the East India Company
entrust the construction of Indian railways to Private Companies? 2+8=10

ˆ¬±ı˛ÀÓ¬ ˝◊©Ü ˝◊ø`¬˚˛± Œfl¬±•Û±Úœ fl¬‡Ú fl¬±Ê qè fl¬Àı˛∑ ˆ¬±ı˛ÀÓ¬ Œı˛˘¬ÛÔ ΔÓ¬øı˛ fl¬ı˛±ı˛ ±ø˚˛Q ˝◊©Ü ˝◊ø`¬˚˛± Œfl¬±•Û±Úœ
Œfl¬Ú Œı¸ı˛fl¬±ı˛œ Œfl¬±•Û±Úœ&ø˘ı˛ ˝±ÀÓ¬ Ú…ô¶∏ fl¬Àı˛∑
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B.Sc. 5th Semester (Honours) Examination, 2019-20

ECONOMICS

Course ID : 51617 Course Code : SH/ECO/504/DSE-2.1

Course Title: Issues in Indian Economy

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions : 2×5=10

ÚœÀ‰¬ı˛ Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What do you mean by cropping intensity or multiple cropping?

Cropping intensity ı± ıUÙ¬¸˘ Î¬◊»¬Û±Ú ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(b) What does subdivision and fragmentation of agricultural holding mean?

ŒÊ±ÀÓ¬ı˛ ‡G¬œfl¬ı˛Ì › ’¸—ıX¬Ó¬± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(c) What are the sources of rural credit?

·Ë±˜œÌ ŸÀÌı˛ Î¬◊»¸&ø˘ fl¬œ fl¬œ∑

(d) State four major arguments in favour of expansion of Cottage industry in India.

ˆ¬±ı˛ÀÓ¬ fl≈¬È¬œı˛ ø˙ä √õ∂¸±Àı˛ı˛ ¬ÛÀé¬ ‰¬±ı˛øÈ¬ ˚≈øMê ±›/

(e) What do you mean by Food security?

‡±… øÚı˛±¬ÛM± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(f) What is the difference between GATT and WTO?

GATT ¤ı— WTO-ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬œ∑

(g) Write down the full form of FERA and FEMA.

FERA ¤ı— FEMA fl¬Ô± ≈øÈ¬ı˛ ¬Û≈Àı˛± Ú±˜ Œ˘À‡±/

(h) What is Disinvestment Policy?

øı˘¢üœfl¬ı˛Ì ÚœøÓ¬ fl¬œ∑
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2. Answer any four of the following questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Discuss in brief, the problems in adopting modern technology in Indian agriculture.

ˆ¬±ı˛Ó¬œ˚˛ fl‘¬ø¯∏ÀÓ¬ Ú”Ó¬Ú Œfl¬Ã˙˘ ·Ë˝ÀÌı˛ ¸˜¸…±&ø˘ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

(b) What in your opinion, are the problems of rural credit in India?

ŒÓ¬±˜±ı˛ ˜ÀÓ¬ ˆ¬±ı˛ÀÓ¬ı˛ ·Ë±˜œÌ ŸÌ ¸ı˛ıı˛±À˝ı˛ ¸˜¸…&ø˘ fl¬œ fl¬œ∑

(c) Analyse the need for industrial development in India.

ˆ¬±ı˛ÀÓ¬ı˛ ø˙Àäı˛ Î¬◊ißøÓ¬ Œfl¬Ú √õ∂À˚˛±ÊÚ Ó¬± øıÀù≠¯∏Ì fl¬Àı˛±/

(d) Discuss briefly the major features of foreign trade in India during the post liberalization
period.

Î¬◊±ı˛œfl¬ı˛Ì ¬Ûı˛ıÓ¬œ« ¸˜À˚˛ ˆ¬±ı˛ÀÓ¬ı˛ ıø˝ı«±øÌÀÊ…ı˛ √õ∂Ò±Ú Δıø˙©Ü…&ø˘ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

(e) Explain the term ‘Globalisation’ in the context of the Indian Economy.

ˆ¬±ı˛Ó¬œ˚˛ ’Ô«ÚœøÓ¬ı˛ Œ√õ∂øé¬ÀÓ¬ ëøıù´±˚˛Úí ˙søÈ¬ ı…±‡…± fl¬Àı˛±/

(f) Write down the major issues in the development of Information Technology in India.

ˆ¬±ı˛ÀÓ¬ı˛ Ó¬Ô… √õ∂˚≈øMêı˛ Œé¬ÀS Î¬◊ißøÓ¬ı˛ √õ∂Ò±Ú øı¯∏˚˛&ø˘ Œ˘À‡±/

3. Answer any one of the following questions: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Critically examine the Land Reforms Policy adopted in India.

ˆ¬±ı˛ÀÓ¬ ˆ”¬ø˜¸—¶®±Àı˛ı˛ ÊÚ… ¬ÛÀé¬¬Û&À˘± ¸˜±À˘±‰¬Ú±¸˝ ’±À˘±‰¬Ú± fl¬Àı˛±/

(b) What are the salient features of New Industrial Policy 1991? Evaluate the policy in present
context.

1991 ¸±À˘ı˛ Ú”Ó¬Ú ø˙äÚœøÓ¬ı˛ ˜”˘ Δıø˙©Ü…&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛± ¤ı— ıÓ«¬˜±Ú Œ√õ∂øé¬ÀÓ¬ ¤˝◊ ÚœøÓ¬ı˛ ˜”˘…±˚˛Ú
fl¬Àı˛±/
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B.Sc. 5th Semester (Honours) Examination, 2019-20

ECONOMICS

Course ID : 51617 Course Code : SH/ECO/504/DSE-2.2

Course Title: Money and Financial Markets

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions : 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is repo rate?

Repo rate fl¬±Àfl¬ ıÀ˘∑

(b) What is near money?

√õ∂±˚˛ ’Ô« fl¬œ∑

(c) Distinguish between bonds and shares.

ŸÌ¬ÛS ¤ı— Œ˙˚˛±ı˛-¤ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… Œ˘À‡±/

(d) Define Capital market.

˜”˘ÒÚ ı±Ê±ı˛-¤ı˛ ¸—:± ±›/

(e) What is bank rate?

ı…±Ç¬ Œı˛È¬ fl¬±Àfl¬ ıÀ˘∑

(f) What do you mean by real interest rate?

√õ∂fl‘¬Ó¬ ¸≈Àı˛ ˝±ı˛ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

(g) Define High-powered money.

¬˝±˝◊-¬Û±›˚˛±ı˛Îƒ¬ ’Ô« (High-powered money) fl¬±Àfl¬ ıÀ˘∑

(h) What is Call money market?

fl¬˘ ˜±øÚ ı±Ê±ı˛ fl¬±Àfl¬ ıÀ˘∑
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2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is money? Discuss the functions of money. 1+4=5

’Ô« fl¬±Àfl¬ ıÀ˘∑ ’ÀÔ«ı˛ øıøˆ¬iß fl¬±Ê ıÌ«Ú± fl¬Àı˛±/

(b) Define Central Bank. What are the functions of central bank? 1+4=5

Œfl¬fœ˚˛ ı…±ÀÇ¬ı˛ ¸—:± Œ˘À‡±/ Œfl¬fœ˚˛ ı…±ÀÇ¬ı˛ fl¬±Ê&ø˘ fl¬œ fl¬œ∑

(c) Explain the distinction between banks and non-bank financial institutions. 5

ı…±Ç¬ › ’-ı…±Ç¬ ’±øÔ«fl¬ √õ∂øÓ¬á¬±ÀÚı˛ ˜ÀÒ… ¬Û±Ô«fl¬… ı…±‡…± fl¬Àı˛±/

(d) What are the basic differences between money market and capital market? 5

’ÀÔ«ı˛ ı±Ê±ı˛ ¤ı— ”̃̆ ÒÀÚı˛ ı±Ê±Àı˛ı˛ ˜ÀÒ… Œ˜Ãø˘fl¬ ¬Û±Ô«fl¬…&ø˘ fl¬œ fl¬œ∑

(e) What is SEBI? Discuss the important functions of SEBI. 1+4=5

SEBI fl¬œ∑ SEBI-ı˛ &èQ¬Û”Ì« fl¬±˚«±ı˘œ ’±À˘±‰¬Ú± fl¬Àı˛±/

(f) What is organised money market? Mention the characteristics of organised money market.
1+4=5

’ÀÔ«ı˛ ¸—·øÍ¬Ó¬ ı±Ê±ı˛ fl¬±Àfl¬ ıÀ˘∑ ¸—·øÍ¬Ó¬ ’ÀÔ«ı˛ ı±Ê±Àı˛ı˛ Δıø˙©Ü…&ø˘ Î¬◊À{°‡ fl¬Àı˛±/

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Explain the process of credit creation by commercial banks.

ı±øÌøÊ…fl¬ ı…±Ç¬ fl¬Ó‘¬«fl¬ ŸÌ ¸‘ø©Üı˛ √õ∂øSê˚˛±øÈ¬ ı…±‡…± fl¬Àı˛±/

(b) Discuss the various types of quantitative and qualitative instruments of credit control of
Central Bank.

ŸÌ øÚ˚˛LaÀÌı˛ Î¬◊ÀVÀ˙… ·‘˝œÓ¬ Œfl¬fœ˚˛ ı…±Ç¬-¤ı˛ øıøˆ¬iß ¬Ûøı˛˜±Ì·Ó¬ › &Ì·Ó¬ ¬ÛX¬øÓ¬&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

ñññññ
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B.Sc. 5th Semester (Programme) Examination, 2019-20

ECONOMICS

Course ID : 51618 Course Code : SP/ECO/501/DSE-1A-5.1.1

Course Title: Microeconomics-II

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five questions : 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What are the functions of market?

ı±Ê±Àı˛ı˛ fl¬±˚«±ı˘œ fl¬œ fl¬œ∑

(b) Give an idea of a monopoly market.

¤fl¬À‰¬øÈ¬˚˛± ı±Ê±Àı˛ı˛ ¤fl¬øÈ¬ Ò±ı˛Ì± ±›/

(c) Explain the relationship among AR, MR and Price Elasticity of Demand.

·h¬ ’±˚˛, √õ∂±øôL√fl¬ ’±˚˛ ¤ı— ‰¬±ø˝±ı˛ ±˜ ø¶öøÓ¬¶ö±¬Ûfl¬Ó¬±ı˛ ¸•Ûfl«¬ √õ∂fl¬±˙ fl¬Àı˛±/

(d) What are ‘economic rent’ and quasi rent?

’Ô«ÕÚøÓ¬fl¬ ‡±ÊÚ± › ’Ò« ‡±ÊÚ± fl¬œ∑

(e) What is the distinction between firm and industry?

Ù¬±˜« › ø˙Àäı˛ ˜ÀÒ… ¬Û±Ô«fl¬…&ø˘ fl¬œ fl¬œ∑

(f) What is the long-run equilibrium condition of industry under perfect competition?

œ‚«fl¬±À˘ ¬Û”Ì« √õ∂øÓ¬À˚±ø·Ó¬±˜”˘fl¬ ı±Ê±Àı˛ ø˙Àäı˛ ˆ¬±ı˛¸±À˜…ı˛ ˙Ó«¬ fl¬œ∑

(g) What are the main functions of trade union?

|ø˜fl¬ ¸—À‚ı˛ √õ∂Ò±Ú fl¬±˚«&ø˘ fl¬œ fl¬œ∑

(h) What do you mean by normal profit of a firm?

Œfl¬±ÀÚ± Ù¬±À˜«ı˛ ¶§±ˆ¬±øıfl¬ ˜≈Ú±Ù¬± ı˘ÀÓ¬ Ó≈¬ø˜ fl¬œ Œı±ÀÁ¬±∑
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2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Derive the short-term equilibrium conditions of the firm under perfect competition. Define
the concept of stability of equilibrium under this market. 4+1=5

¬Û”Ì«±º √õ∂øÓ¬À˚±ø·Ó¬±˜”˘fl¬ ı±Ê±Àı˛ ¤fl¬øÈ¬ Ù¬±À˜«ı˛ ¶§äfl¬±˘œÚ ˆ¬±ı˛¸±À˜…ı˛ ˙Ó«¬&ø˘ øÚÌ«˚˛ fl¬Àı˛±/ ¤˝◊ ı±Ê±Àı˛ı˛
ˆ¬±ı˛¸±À˜…ı˛ ¶ö±˚˛œÀQı˛ Ò±ı˛Ì±øÈ¬ı˛ ¸—:± ±›/

(b) What is monopoly market? State and explain the equilibrium conditions under monopoly.
1+4=5

¤fl¬À‰¬øÈ¬˚˛± ı±Ê±ı˛ fl¬œ∑ ¤fl¬À‰¬øÈ¬˚˛± ı±Ê±Àı˛ı˛ ˆ¬±ı˛¸±À˜…ı˛ ˙Ó«¬&ø˘ øıı‘Ó¬ fl¬Àı˛± › ı…±‡…± fl¬Àı˛±/

(c) What do you mean by Liquidity Preference? Explain the nature of Speculative demand
for money in Keynesian Liquidity Preference Theory. 1+4=5

Ó¬±ı˛À˘…ı˛ ¬ÛÂj ı˘ÀÓ¬ Ó≈¬ø˜ fl¬œ Œı±ÀÁ¬±∑ Œfl¬˝◊Úƒ¸œ˚˛ Ó¬±ı˛˘… ¬ÛÂÀjı˛ Ó¬ÀMW Ù¬±È¬fl¬± fl¬±ı˛ı±Àı˛ı˛ Î¬◊ÀVÀ˙… ’ÀÔ«ı˛
‰¬±ø˝±ı˛ √õ∂fl‘¬øÓ¬ ı…±‡…± fl¬Àı˛±/

(d) What is equilibrium point? State briefly the problem of existence and uniqueness of
equilibrium in a perfectly competitive market. 1+4=5

ˆ¬±ı˛¸±˜… øıj≈ fl¬œ∑ ¤fl¬øÈ¬ ¬Û”Ì«√õ∂øÓ¬À˚±ø·Ó¬±˜”˘fl¬ ı±Ê±Àı˛ ˆ¬±ı˛¸±À˜…ı˛ ’øô¶∏Q ¤ı— ’øZÓ¬œ˚˛Ó¬± (uniqueness)
¸˜¸…± øıı‘Ó¬ fl¬Àı˛±/

(e) What is rent? Briefly describe Ricardian Theory of Rent. 1+4=5

‡±ÊÚ± fl¬œ∑ øı˛fl¬±ÀÎ«¬ı˛ ‡±ÊÚ± Ó¬MWøÈ¬ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

(f) What is Profit? Discuss the elements of profit of an entrepreneur in production. 1+4=5

≈̃Ú±Ù¬± fl¬œ∑ Î¬◊»¬Û±Ú Œé¬ÀS Î¬◊À…±Mê±ı˛ ≈̃Ú±Ù¬±ı˛ Î¬◊¬Û±±Ú&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is money wage rate? Explain with the help of a diagram how wage is determined
in the perfect competetive market. 2+8=10

’±øÔ«fl¬ ˜Ê≈øı˛ fl¬œ∑ Œ˘‡ø‰¬ÀSı˛ ¸±˝±À˚…, ¬Û”Ì« √õ∂øÓ¬À˚±ø·Ó¬±˜”˘fl¬ ı±Ê±Àı˛ fl¬œˆ¬±Àı ˜Ê≈øı˛ øÚÒ«±øı˛Ó¬ ˝˚˛ Ó¬±
ı…±‡…± fl¬Àı˛±/

(b) What is Marginal Revenue Product (MRP)? Explain marginal productivity theory of
distribution. 2+8=10

√õ∂±øôL√fl¬ ’±˚˛ Î¬◊»¬Û±Ú fl¬œ∑ ı∞I◊ÀÚı˛ √õ∂±øôL√fl¬ Î¬◊»¬Û±Ú˙œ˘Ó¬±ı˛ Ó¬MWøÈ¬ ı…±‡…± fl¬Àı˛±/
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B.Sc. 5th Semester (Programme) Examination, 2019-20

ECONOMICS

Course ID : 51618 Course Code : SP/ECO/501/DSE-1A-5.1.2

Course Title: Money and Banking

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions : 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What do you mean by ‘Limited legal tender’?

¸¸œ˜ ’±˝◊Ú ø¸X¬ ’Ô« ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±¬∑

(b) Distinguish between ‘Primary Securities’ and ‘Secondary Securities’.

√‘Primary Securities’ › ‘Secondary Securities’-¤ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬Àı˛±/

(c) How is Bank Rate used as a method of credit control?

ŸÌ øÚ˚˛LaÌ ¬ÛX¬øÓ¬ ø˝À¸Àı Bank Rate-Œfl¬ fl¬œˆ¬±Àı ı…ı˝±ı˛ fl¬ı˛± ˝˚˛∑

(d) What do you mean by ‘Treasury Bill’?

Treasury Bill ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(e) What is the meaning of term ‘Underwriting of shares’?

‘Underwriting of shares’ fl¬Ô±øÈ¬ı˛ ’Ô« fl¬œ∑

(f) Write the full form of

√¬Û≈Àı˛± ı˛+¬ÛøÈ¬ Œ˘À‡±

(i) NABARD

(ii) SIDBI
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(g) Write the expression of Money Multiplier.

¬’±øÔ«fl¬ &ÌÀfl¬ı˛ ’±øÇ¬fl¬ √õ∂fl¬±˙øÈ¬ Œ˘À‡±/

(h) State the ‘Risk Premium Theory’ of term structure of interest rates.

¸≈Àı˛ ˝±Àı˛ı˛ Œ˜˚˛±ø ·Í¬ÀÚı˛ Risk Premium Ó¬MWøÈ¬ Œ˘À‡±/

2. Answer any four of the following questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Briefly discuss all the functions of Money.

’ÀÔ«ı˛ fl¬±Ê&ø˘ı˛ ¸—øé¬l øııı˛Ì ±›/

(b) Briefly explain the role of Money Market in Economic Development.

’Ô«ÕÚøÓ¬fl¬ Î¬◊iß˚˛ÀÚ Money Market-¤ı˛ ˆ”¬ø˜fl¬± ¸—Àé¬À¬Û ı…±‡…± fl¬Àı˛±/

(c) Write a short note on ‘Stock Exchange’ in India.

ˆ¬±ı˛ÀÓ¬ı˛ Stock Exchange-¤ı˛ ›¬Ûı˛ ¤fl¬øÈ¬ È¬œfl¬± Œ˘À‡±/

(d) How does the Central Bank control NBFIs?

Œfl¬fœ˚˛ ı…±Ç¬ fl¬œˆ¬±Àı NBFI&ø˘Àfl¬ øÚ ˛̊LaÌ fl¬Àı˛∑

(e) Make the difference among Bonds, Shares and Debentures.

ı`¬, Œ˙˚˛±ı˛ › ŸÌ¬ÛS — ¤Àı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬Àı˛±/

(f) Briefly explain about LICI and GICI.

LICI › GICI ¸•ÛÀfl«¬ ¸—øé¬l øııı˛Ì ±›/

3. Answer any one of the following questions: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) (i) Define M2.

M2-ı˛ ¸—:± ±›/

(ii) Explain all functions of Central Bank. 2+8=10

Œfl¬fœ˚˛ ı…±ÀÇ¬ı˛ fl¬±Ê&ø˘ ı…±‡…± fl¬Àı˛±/
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(b) (i) Make a distinction between Money Market and Capital Market.

Money Market › Capital Market-¤ı˛ ˜ÀÒ… ¬Û±Ô«fl¬…&ø˘ Î¬◊À{°‡ fl¬Àı˛±/

(ii) What is Call Money Market? Write its features in the context of India. 5+1+4=10

Call Money Market fl¬±Àfl¬ ıÀ˘∑ ˆ¬±ı˛ÀÓ¬ı˛ ¬Ûøı˛À√õ∂øé¬ÀÓ¬ Call Money Market-¤ı˛ Δıø˙©Ü…&ø˘
Î¬◊À{°‡ fl¬Àı˛±/

ñññññ

( 5 ) SP-V/ECO/501/DSE-1A-5.1.2/19



B.Sc. 5th Semester (Programme) Examination, 2019-20

ECONOMICS

Course ID : 51618 Course Code : SP/ECO/501/DSE-1A-5.1.3

Course Title: Environmental Economics

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions : 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Define Sustainable Development.

Sustainable Development-¤ı˛ ¸—:± ±›/

(b) Name one renewable and one non-renewable resource.

¤fl¬øÈ¬ ¬Û≈ÚÚ«ıœfl¬ı˛ÌÀ˚±·… › ¤fl¬øÈ¬ ’¬Û≈ÚÚ«ıœfl¬ı˛ÌÀ˚±·… ¸•ÛÀı˛ Î¬◊±˝ı˛Ì ±›/

(c) What do you mean by Problem of Free Rider?

Problem of Free Rider ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(d) What is WTP?

WTP fl¬œ∑

(e) What do you mean by Negative Externalities?

ŸÌ±Rfl¬ ı±ø˝…fl¬Ó¬± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(f) Mention two protocols that aim at preventing climate change.

Climate change √õ∂øÓ¬Àı˛±ÀÒı˛ ÊÚ… ≈øÈ¬ protocol-¤ı˛ Î¬◊À{°‡ fl¬Àı˛±/

(g) Which resources are termed as ‘Common Property Resources’?

Œfl¬±Ú ¸•Û&ø˘Àfl¬ Common Property Resources ı˘± ˝ ˛̊∑

(h) What is ‘Exclusion Principle’ of Social goods?

Social goods-¤ı˛ Exclusion Principle ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

SP-V/ECO/501/DSE-1A-5.1.3/19 ( 6 )



2. Answer any four of the following questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is Coase Theorem? Explain it.

Coase Theorem fl¬œ∑ ı…±‡…± fl¬Àı˛±/

(b) How do externalities make pricing of public goods problematic?

ı±ø˝…fl¬Ó¬± fl¬œˆ¬±Àı ·Ì^Àı…ı˛ ±˜ øÚÒ«±ı˛ÀÌ ’¸≈øıÒ± ΔÓ¬øı˛ fl¬Àı˛∑

(c) Write the features of Public Goods.

Public Goods-¤ı˛ Δıø˙©Ü…&ø˘ Œ˘À‡±/

(d) How does Rainforest destruction affect environment?

ı‘ø©ÜıÚ±=¡˘ ÒT—À¸ı˛ Ù¬À˘ ¬Ûøı˛ÀıÀ˙ı˛ ›¬Ûı˛ fl¬œ √õ∂ˆ¬±ı ¬ÛÀı˛∑

(e) What is WTA? Explain how WTA can be used to price public goods. 1+4=5

WTA fl¬œ∑ WTA fl¬œˆ¬±Àı ı…ı˝±ı˛ fl¬Àı˛ ·Ì^Àı…ı˛ ±˜ øÚÒ«±ı˛Ì fl¬ı˛± ˚±˚˛∑

(f) Why is Sustainable Development and Environmental Protection the need of the day?

ıÓ«¬˜±ÀÚ Sustainable Development › Environmental Protection Œfl¬Ú √õ∂À˚˛±ÊÚœ˚˛∑

3. Answer any one of the following questions: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is WTP? Explain how WTP is linked to use-value and non-use value of a good.
2+8=10

WTP fl¬±Àfl¬ ıÀ˘∑ ı…ı˝±øı˛fl¬ ”̃̆ … › ’ı…ı˝±øı˛fl¬ ”̃À˘…ı˛ ¸Àº WTP fl¬œˆ¬±Àı Êøh¬Ó¬∑

(b) (i) Establish an inverse relation between Growth and Environment.

√√õ∂¸±ı˛ › ¬Ûøı˛ÀıÀ˙ı˛ ˜ÀÒ… ŸÌ±Rfl¬ ¸•Ûfl«¬øÈ¬ √õ∂øÓ¬¶ö±ø¬ÛÓ¬ fl¬Àı˛±/

(ii) Briefly explain the causes of Global Warming. 5+5=10

øıù´ Î¬◊¯û±˚˛Ì-¤ı˛ fl¬±ı˛Ì&ø˘ ¸—Àé¬À¬Û ı…±‡…± fl¬Àı˛±/

ñññññ
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Course Title: Research Methodology
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as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions : 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What are the main sources of secondary data?

Œ·ÃÌ Ó¬ÀÔ…ı˛ Î¬◊»¸&ø˘ fl¬œ fl¬œ∑

(b) Distinguish between ‘census’ and ‘sample survey’.

‘Census’ ¤ı— ‘sample survey’-¤ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬Àı˛±/

(c) What do you mean by data?

Ó¬Ô… ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(d) What do you mean by random sampling?

Random sampling ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(e) Mention any two problems in collecting primary data.

√õ∂±Ôø˜fl¬ Ó¬Ô… ¸—·ËÀ˝ı˛ ≈øÈ¬ ’¸≈øıÒ± Œ˘À‡±/

(f) What is research ethics?

·Àı¯∏Ì± ÚœøÓ¬ fl¬œ∑

(g) What is research hypothesis?

øı˛¸±‰«¬ ˝±˝◊À¬Û±ÀÔø¸¸ fl¬±Àfl¬ ıÀ˘∑

(h) What do you mean by research?

·Àı¯∏Ì± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑
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2. Answer any four of the following questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What are the differences between primary and secondary data?

√õ∂±Ôø˜fl¬ › Œ·ÃÌ Ó¬ÀÔ…ı˛ ˜ÀÒ… ¬Û±Ô«fl¬…&ø˘ fl¬œ fl¬œ∑

(b) Briefly discuss various methods of sampling.

Sampling-¤ı˛ øıøˆ¬iß ¬ÛX¬øÓ¬&ø˘ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

(c) Discuss the advantages of sample survey.

Sample survey-¤ı˛ ≈̧øıÒ±&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

(d) How to write a project report?

¤fl¬øÈ¬ √õ∂fl¬Àä √õ∂øÓ¬ÀıÚ fl¬œˆ¬±Àı ø˘‡Àı∑

(e) What are the differences between qualitative and quantitative research?

&Ì·Ó¬ › ¬Ûøı˛˜±Ì ¸—Sê±ôL√ ·Àı¯∏Ì±ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬Àı˛±/

(f) What do you mean by questionaire? Describe the characteristics of a good questionaire.

1+4=5

√õ∂ùü˜±˘± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ ¤fl¬øÈ¬ ˆ¬±À˘± √õ∂ùü˜±˘±ı˛ Δıø˙©Ü…&ø˘ ıÌ«Ú± fl¬Àı˛±/

3. Answer any one of following questions: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Explain all the steps to be followed while carrying out research.

·Àı¯∏Ì± ¬ÛS Œ˘‡±ı˛ øıøˆ¬iß Ò±¬Û&ø˘ ıÌ«Ú± fl¬Àı˛±/

(b) What is data collection? Discuss various methods of collecting primary data and narrate

their merits and demerits. 2+8=10

Ó¬Ô… ¸—·Ë˝ fl¬±Àfl¬ ıÀ˘∑ √õ∂±Ôø˜fl¬ Ó¬Ô… ¸—·ËÀ˝ı˛ øıøˆ¬iß ¬ÛX¬øÓ¬&ø˘ Œ˘À‡± ¤ı— Ó¬±Àı˛ ¸≈Ù¬˘ › fl≈¬Ù¬˘&ø˘
ıÌ«Ú± fl¬Àı˛±/

ñññññ
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øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five questions : 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Give the classical definition of probability mentioning the assumptions.

’Ì≈Ò±ı˛Ì±&ø˘ Î¬◊À{°‡ fl¬Àı˛ ¸y¬±ıÚ±ı˛ flv¬…±ø¸fl¬±˘ ¸—:± ±›/

(b) Explain the concept of mutually exclusive events with one example.

¤fl¬øÈ¬ Î¬◊±˝ı˛Ì ¸˝À˚±À· ¬Ûı˛¶Ûı˛ øıø‰Âiß ‚È¬Ú±ı˛ Ò±ı˛Ì±øÈ¬ ı…±‡…± fl¬Àı˛±/

(c) What is a random variable?

¸˜¸y¬ı ‰¬˘fl¬ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

(d) Define mathematical expectation of a random variable.

¤fl¬øÈ¬ ¸˜¸y¬ı ‰¬˘Àfl¬ı˛ ·±øÌøÓ¬fl¬ √õ∂Ó¬…±˙±ı˛ ¸—:± ±›/

(e) Write the p.m.f. for Poisson Distribution for a discrete random variable x.

¤fl¬øÈ¬ øıø‰Âiß ¸˜¸y¬ı ‰¬˘ı˛±ø˙ x-¤ı˛ ÊÚ… Poisson øıˆ¬±ÊÀÚı˛ ¸y¬±ıÚ± ˆ¬ı˛ ’À¬Ûé¬fl¬øÈ¬ Œ˘À‡±/

(f) Explain the concept of independence between two random variables X and Y.

≈øÈ¬ ¸˜¸y¬ı ‰¬˘fl¬ X ¤ı— Y-¤ı˛ ¬Û±ı˛¶Ûøı˛fl¬ ¶§±ÒœÚÓ¬±ı˛ Ò±ı˛Ì±øÈ¬ ı…±‡…± fl¬Àı˛±/

(g) Explain the concept of sampling.

Ú ≈̃Ú± ‰¬˚˛ÀÚı˛ Ò±ı˛Ì±øÈ¬ ı…±‡…± fl¬Àı˛±/

(h) What do you mean by Null hypothesis and Alternative hypothesis?

Ú±˘ƒ ˝±˝◊À¬Û±ÀÔø¸¸ƒ ¤ı— ’˘ƒÈ¬±ı˛ÀÚøÈ¬ˆ¬ ïøıfl¬äó ˝±˝◊À¬Û±ÀÔø¸¸ƒ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑
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2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What do you mean by variance of a random variable? Prove that Var(x) = E(x2)–{E(x)}2

2+3=5
¸˜¸y¬ı ‰¬˘Àfl¬ı˛ Œˆ¬˜±Ú ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑ Œ‡±› Œ˚, Var(x) = E(x2)–{E(x)}2

(b) A man draws at random 4 balls from a bag containing 7 green and 5 red balls.

¤fl¬ÊÚ ı…øMê ¸±Ó¬øÈ¬ ¸ı≈Ê › ¬Û“±‰¬øÈ¬ ˘±˘ ı˘ øıø˙©Ü ¤fl¬øÈ¬ Ôø˘ ŒÔÀfl¬ ˚ÀÔ‰Âˆ¬±Àı ‰¬±ı˛øÈ¬ ı˘ Ó≈¬˘À˘Ú/

(i) What is the chance of getting the balls all green?

¸ı ı˘&ø˘ ¸ı≈Ê ˝ı±ı˛ ¸y¬±ıÚ± fl¬Ó¬∑

(ii) What is the probability of getting 2 green and 2 red balls?

≈øÈ¬ ı˘ ¸ı≈Ê ¤ı— ≈øÈ¬ ı˘ ˘±˘ ˝ı±ı˛ ¸y¬±ıÚ± fl¬Ó¬∑

(c) Consider the Binomial distribution,

f(x) = mcx px qm–x, for x = 0, 1, 2, ...., m

and = 0 otherwise

ÚœÀ‰¬ı˛ øZ¬Û øıˆ¬±ÊÚøÈ¬ øıÀı‰¬Ú± fl¬Àı˛± –

f(x) = mcx px qm–x, for x = 0, 1, 2, ...., m

¤ı— = 0 ’Ú…Ô± ˛̊

(i) Mention the parameters of this distribution and give the expressions for mean and

variance in terms of these parameters.

¤˝◊ øıˆ¬±ÊÀÚ ¬Ûøı˛fl¬±Ç¬ ı± ¬Û…±ı˛±ø˜È¬±ı˛&ø˘ Î¬◊À{°‡ fl¬Àı˛± ¤ı— ¬Û…±ı˛±ø˜È¬±ı˛&ø˘ı˛ ̧ ±˝±À˚… ¤˝◊ øıˆ¬±ÊÀÚı˛
·h¬ › Œˆ¬˜±ÀÚı˛ ¸”S Î¬◊À{°‡ fl¬Àı˛±/

(ii) Cite any two real life situations when a random discrete variable follows binomial

distribution.

ı±ô¶∏ı Ê·Ó¬ ŒÔÀfl¬ ≈øÈ¬ Î¬◊±˝ı˛Ì ±›, Œ˚‡±ÀÚ ¤fl¬øÈ¬ ¸˜¸y¬ı øıø‰Âiß ‰¬˘fl¬ øZ¬Û øıˆ¬±ÊÚ ’Ú≈̧ ı˛Ì
fl¬Àı˛/

(iii) Using this distribution find out the probability of getting one head when five unbiased

coins are tossed together. 2+1+2=5

ŒÁ“¬±fl¬˙”Ì… ¬Û“±‰¬øÈ¬ ˜≈^± ¤fl¬¸Àº ŒÂ“±h¬± ˝À˘ ¤˝◊ øıˆ¬±ÊÀÚı˛ ¸±˝±À˚… 1øÈ¬ Œ˝Î¬ ¬Ûh¬±ı˛ ¸y¬±ıÚ±
øÚÌ«˚˛ fl¬Àı˛±/

(d) Write down the axiomatic definition of probability and mention the axioms behind it.

1+4=5

¸y¬±ıÚ±ı˛ ¶§Ó¬–ø¸X¬ ¸—:±øÈ¬ Œ˘À‡± ¤ı— ¤˝◊ ¸—:± øÚÒ«±ı˛ÀÌı˛ ÊÚ… ¶§Ó¬–ø¸X¬ ¸Ó¬… ı± axiom&ø˘ Î¬◊À{°‡
fl¬Àı˛±/



(e) (i) What is meant by simple random sampling?

¸ı˛˘ ¸˜¸y¬ı Ú ≈̃Ú± ‰¬˚˛Ú ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

(ii) Distinguish between simple random sampling with replacement and simple random

sampling without replacement.

√õ∂øÓ¬¶ö±¬ÛÚÀ˚±·… ¤ı— ’√õ∂øÓ¬¶ö±¬ÛÚÀ˚±·… ¸ı˛˘ ¸˜¸y¬ı Ú˜≈Ú± ‰¬˚˛ÀÚı˛ ˜ÀÒ… ¬Û±Ô«fl¬… øÚÀ«˙ fl¬Àı˛±/

(iii) Mention two practical methods for drawing simple random sampling from population.

1+3+1=5

¸˜·Ëfl¬ ŒÔÀfl¬ ¸ı˛˘ ¸˜¸y¬ı Ú˜≈Ú± ‰¬˚˛ÀÚı˛ ≈øÈ¬ √õ∂‰¬ø˘Ó¬ ¬ÛX¬øÓ¬ı˛ Ú±˜ Î¬◊À{°‡ fl¬Àı˛±/

(f) State and explain the properties of a good estimator.

¤fl¬øÈ¬ ˆ¬±˘ √õ∂±!¬˘fl¬ ı± estimator-¤ı˛ Δıø˙©Ü…&ø˘ Î¬◊À{°‡ fl¬Àı˛± › ı…±‡…± fl¬Àı˛±/

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) State and prove Bayes’ theorem for conditional probability.

˙Ó«¬ ≈̊Mê ¸y¬±ıÚ±ı˛ Œé¬ÀS Bayes’ Î¬◊¬Û¬Û±…øÈ¬ øıı‘Ó¬ fl¬Àı˛± ¤ı— √õ∂˜±Ì fl¬Àı˛±/

(b) (i) Give the probability density function for a continuous random variable x which

follows normal distribution.

¤fl¬øÈ¬ ’øıø‰Âiß ‰¬˘fl¬ x ¶§±ˆ¬±øıfl¬ øıˆ¬±ÊÚ Œ˜ÀÚ ‰¬˘À˘ øıˆ¬±ÊÚøÈ¬ı˛ ¸y¬±ıÚ± ‚ÚQ ’À¬Ûé¬fl¬øÈ¬ Œ˘À‡±/

(ii) Prove the validity of this particular density function.

¤˝◊ ¸y¬±ıÚ± ‚ÚQ ’À¬Ûé¬fl¬øÈ¬ı˛ ¸Ó¬…Ó¬± √õ∂˜±Ì fl¬Àı˛±/

(iii) Find out the mean of normal distribution. 2+4+4=10

¶§±ˆ¬±øıfl¬ øıˆ¬±ÊÀÚı˛ ·h¬˜±Ú øÚÌ«˚˛ fl¬Àı˛±/

ñññññ

( 3 ) SH-V/ECO/501/C-11/19


	16546-SH-V-ECO-502-C-12-19-G.pdf (p.1-2)
	16547-SH-V-ECO-503-DSE-1.1-1.2-19-A.pdf (p.3-6)
	16548-SH-V-ECO-504-DSE-2.1-2.2-19-A.pdf (p.7-10)
	16549-SP-V-ECO-501-DSE-IA-19-A.pdf (p.11-17)
	16550-SH-V-ECO-504-SEC-3-19-A.pdf (p.18-19)
	16545-SH-V-ECO-501-C-11-19-A.pdf (p.20-22)

